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 gyMZm :gyMZm :gyMZm :gyMZm :      1.  gd© àíZ gmoS>{dUo Amdí`H$ Amho. 
2. COdrH$S>rb A§H$ Ë¶m àíZm§Mo JwU Xe©{dVmV. 
3. CÎman{ÌHo$V àýn{ÌHo$Vrb àýH«$_m§H$ {b{hUo Amdí`H$ Amho. 
4. Amdí¶H$ VoWo AmH¥$Vr H$mT>m. 

 

à.1. `mo½` eãX {ZdSy>Z Jmiboë`m OmJm ^am. (10) 

 1) bmoH$g§»¶o~ÔbMm qgÕmV -------- ¶mZo ‘m§S>bm.  
 A) H$mb© [aQ>a ~) håãbmoQ>  
 H$>) Wm°‘g ‘mëWg S>) ¶°bo‘r  
 2) EH$m amÁ¶mVyZ Xþgè¶m amÁ¶mV hmoUmè¶m ñWbm§Vamg --------- àH$maMo ñWbm§Va 

åhUVmV. 
 

 A) Am§VaamÁ¶ ~) Am§Vaamï´>r¶  
 H$>) Jmd{Zhm¶ S>) VmbwH$m{Zhm¶  
 3) bmoH$g§»¶m g§H«$‘U {gÕm§VmZwgma ^maV hm Xoe -------- àH$mamVyZ OmV Amho.  
 A) g§H«$‘nyd© AdñWm ~) g§H«$‘UmoÎma AdñWm  
 H$>) Z§VaMr AdñWm S>) eodQ>Mr AdñWm  
 4) ^maVmVrb ------- øm amÁ¶m‘Ü¶o OÝ‘Xa d ‘yë¶Xa OmñV Amho.  
 A) amOñWmZ ~) CÎmaàXoe  
 H$>) Amgm‘ S>) {~hma  
 5) --------- qbJmMo ñWbm§Va ^maVmV gdm©{YH$ Amho.  
 A) nwéf ~) ór  
 H$>) BVa S>) H$moUVohr Zmhr.  
 6) aofr¶ dgmhVr øm Zoh‘r ------- {R>H$mUr nhmd¶mg {‘iVmV.  
 A) Vbmd ~) nd©V  
 H$>) añVo S>) {dhra  
 7) ^maVmVrb -------- amÁ¶m‘Ü¶o ór nwéfmMo à‘mU gdm©V H$‘r Amho.  
 A) Am§Y« àXoe ~) CÎma àXoe  
 H$>) ‘Ü¶ àXoe S>) Ho$ai  
 8) bmoH$g§»¶m g§H«$‘U qgÕmV ------- ¶m§Zr ‘m§S>bm.  
 A) ’«°$H$ S>ãë¶w Zm°Q>oñQ>mB©Z ~) håãbmoQ>  
 H$>) H$mb© [aQ>a S>) Ab ~hZr  
 9) ---------- amÁ¶m‘Ü¶o ñWbm§VamMo à‘mU OmñV Amho.   
 A) n§. ~§Jmb ~) Amo{S>gm  
 H$>) ZmJmb±S> S>) CÎma àXoe  
 10) ‘¥Ë¶wXa d OÝ‘Xa ^maVmV PnmQ>çmZo --------- hmoV Amho.  
 A) H$‘r hmoV Amho ~) dmT>V Amho.  
 H$>) pñWa Amho. S>) ¶mn¡H$s H$moUVohr Zmhr.  
à.2. nwT>rb àíZm§Mr g{dñVa CÎmao {bhm. (H$moUVohr VrZ) (30) 

D 
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1) JmoS> O‘mVr~Ôb ‘m{hVr {bhm. 
2) bmoH$g§»¶m g§H«$‘U qgÕmV ñnï> H$am. 

 3) dgmhVrÀ¶m {ZdS>rda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am.  

4) A^©H$ ‘¥Ë¶wMr H$maUo {bhm. 
5) ‘Ë¶Voda n[aUm‘ H$aUmao KQ>H$ {bhm. 
 

à.3. nwT>rb àíZm§Mr WmoS>Š`mV CÎmao {bhm. (H$moUVohr XmoZ) (10) 

1) ZmJm O‘mVr~Ôb WmoS>³¶mV ‘m{hVr {bhm. 
2) Am§VaamÁ¶ ñWbm§Va ¶m~Ôb ‘m{hVr {bhm. 

 3) H|$Ðr¶ dñË¶m ¶m~Ôb g{dñVa MMm© H$am.  

4) ñWbm§VamMr H$maUo d n[aUm‘ {bhm. 
 

à.4. {Q>nm {bhm. (H$moUË`mhr XmoZ) (10) 

1) OZZXa 
2) ehar Vo J«m‘rU ñWbm§Va 
3) Wm°‘g ‘mëWgMm {gÕm§VmVrb VÎdo 
4) {^„ O‘mV 

 

Translation in English 
Sub: Human Geography (Part - 2) (GC-201) 

 Instructions:   
1) All Questions are Compulsory. 
2) Figures to the right indicate full marks. 
3) In the case of any doubt the Marathi version shall be held to be authentic and final. 
4) Draw diagram wherever necessary. 
5) While writing answers the respective question numbers must be mentioned in the 

Answer Book. 

 

Q.1. Fill in the blanks with the correct option. (10) 
 1) The population theory is putforth by -------------  
 a) Carl Ritter b) Humbolt  
 c) Thomas Malthus d) Ptolemy  

 2) The migration from one state to another state is called ---------  
 a) Interstate b) International  
 c) Village level d) Tahsil level.  

 3) According to Demographic transition model India is passing from -------- state.  
 a) Pre-transition equilibrium b) Early transition   
 c) Late transition d) Post transition  

 4) ----------- state in India has highest birth rate and death rate.  
 a) Rajasthan b) Uttar Pradesh  
 c) Assam d) Bihar  

 5) ------------ gender migration is more in India.  
 a) Male b) Female  
 c) Other d) No one  
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6) The linear settlement are always observed along to  
 a) Lake b) Mountain  
 c) Road d) Well  

 7) ----------- state have highest sex ratio in India  
 a) A.P. b) U. P.  
 c) M. P. d) Kerala  

 8) The demographic transition model put forth by --------- Geographer.  
 a) Frank W. Notestein b) Humbolt  
 c) Kari Ritter d) Al-Birumi  

 9) --------- state have no of Migration.  
 a) West Bengal b) Odissa  
 c) Nagaland d) Uttar Pradesh  

 10) The birth rate and death rate in India  is --------------  
 a) Declining b) Inding  
 c) Stagnant d) No of these  

   

Q.2. Answer the following questions in detail. (Any Three) (30) 
1) Write information about Gond Tribe 
2) Explain the Demographic Transition theory 

 3) Explain the factors affecting on settlement site.  

4) Write the causes of Infant Mortality 
5) Write the elements that affect on Mortality 
 

Q.3. Answer the following questions in brief. (Any Two) (10) 
1) Write information about naga tribe 
2) Discuss about inter-state migration. 

 3) Discuss about central settlement.  

4) Write the causes and consequences of migration.  
 

Q.4. Write short notes. (Any Two) (10) 
1) Birthrate 
2) Migration City to Rural 
3) Thomas Malthus assumptions in population theory 
4) Bhill Tribe. 

____________________ 


